Opener’s bid after Responder’s Invitational 2NT
In standard methods (playing a strong NT) responder raises 1NT to 2NT with 8-9 points and no four card major. Using 4-way transfers we go via Stayman, but we have seen that that’s no problem. But what should opener do when responder has invited with 2NT? Clearly he usually bids 3NT or passes, but we can occasionally make use of the 3(/( (or even 3(/() bids: - 

If opener is going to accept the game invitation then he can bid a 5 card major just in case there is a 5-3 fit there.

Suppose that you open 1NT and the bidding goes   1NT - 2( - 2( - 2NT - ? : -

Hand 1
Hand 2
Hand 3

Hand 4

Hand 5

( K86
( K86
( KJ6
( KJ64
( KJ64
 

( AJ1084
( AQ1094
( 108742
( AQ104
( AQ104

( KJ6
( KJ6
( AQ6
( Q96

( KJ9


( K3
( K3
( AQ
( K6

( K6


Hand 1:
Pass, you do not have enough to accept the invitation.

Hand 2:
Bid 3(. You have enough to accept the game invitation and should show your decent 5 card suit.


Hand 3:
You could bid a forcing 3(, but with all the honours outside the suit, I prefer 3NT.

Hand 4:
Pass, partner has denied 4 (’s.

Hand 5:
Bid 3NT. The sequences 1NT - 2( - 2( - 2NT - 3(/4( do not exist when playing     4-way transfers as the 2NT bid here by responder denies 4 (’s.

And it’s much the same if opener has a 5 card ( suit and the bidding starts 

1NT - 2( - 2( - 2NT;   where a 3( bid by opener shows a decent 5 card ( suit.

And a similar situation applies when responder has a 4 card ( suit and the bidding has gone 1NT - 2( - 2( - 2( - ?. But this time if opener has 4 (’s then there is a fit there: -

Hand 1:
Bid 2NT. Again, you do not have enough to accept the invitation. If the (’s were weaker then passing 2( and playing in the Moysian fit is a very real possibility.

Hand 2:
Bid 3(. You again have enough to accept the game invitation and should show your decent 5 card suit. Partner’s 4 card ( suit is irrelevant.


Hand 3:
Again, you could bid a forcing 3(, but with all the honours outside the suit, I still prefer 3NT.

Hand 4:
Pass. You have a 4-4 ( fit but you are minimum.

Hand 5:
Bid 4(, obviously.

And what would a 3( bid by opener after   1NT - 2( - 2( - 2(   mean?

You could well use it as passing the buck, showing 4 card support but not sure whether to go to game or not. Quite plausible, but consider this hand: -

West
East
West
East

( AQ7
( KJ85

1NT
2(
( AQJ8
( K95

2(
2(
( 95
( 6432

3(
(1)
4(
( KJ97
( Q8

pass

With a weak doubleton minor, West uses the 3( bid at (1) to show decent 3 card ( support and offering 4( as an alternative contract to 3NT. Reverse East’s minors and 4( is still best.

Now consider this one: -

West
West
East
Partner’s 2NT bid is invitational and denies 




4 (’s. We have game values but should we

( 95
1NT
2(
bid 3( to try to play in a Moysian fit?

( AQJ8
2(
2NT
No. A 3( bid here shows 5 (’s and, in any

( AQ7
?


case, the Moysian fit will not play well as it

( KJ97



is the long trump hand taking the ( ruff.





No, its best to take your chances in 3NT.

So the sequence  1NT - 2( - 2( - 2NT - 3(  promises a 5 card ( suit.

And what would a 3( bid by opener after   1NT - 2( - 2( - 2NT   mean?

Could it be a hand 4-4 in the majors with a weak minor and suggesting the ( Moysian fit?

West
West
East
Partner’s 2NT bid is again invitational and denies 




4 (’s. We have game values but should we

( KJ97
1NT
2(
bid 3( to try to play in a Moysian fit there?

( AQJ8
2(
2NT
No. If there is a ( problem it will be the hand

( 95
?


long in trumps that will be forced. It’s best to take 

( AQ7



your chances in 3NT and if you keep quiet about 




the (’s you may get a not unwelcome ( lead.

So the sequence  1NT - 2( - 2( - 2NT - 3( is undefined.

Now again consider    
1NT - 2( - 2( - 2NT 
 what would 3( or 3( mean?

Hand 5
Hand 6
Partner has an invitational hand with no 4 card major.



With Hand 5 it seems prudent to bid 3(, to play. This will

( 86
( 86
almost certainly be a safer contract than 2NT unless partner is

( AK64
( AK64
exactly 3352. Hand 6 is similar and should bid 3( to play.

( K9
( AQ873



( AQ873
( K9


And after

1NT - 2( - 2( - 2NT 
 what would 3( or 3( mean?

Hand 7
Hand 8
Partner again has an invitational hand and may or may not have 



a 4 card major. With Hand 7 it may be best to bid 3(, to play.

( 86
( Q6
With Hand 7 it’s not clear, but with Hand 8 it must be best to

( AQ6
( K6
bid 3( now if you had opened it with 1NT.

( K97
( AQ8743



( AQ873
( K97


But after

1NT - 2( - 2( - 2NT 
 things are different.

Hand 9
Hand 10
Partner again has an invitational hand but we do not know if



he has a 4 card ( suit or not. Bidding 3( with Hand 9 would

( AQ64
( AQ64
be silly if partner has 3442 shape. And it’s much the same with

( 86
( 86
Hand 10. It’s probably best to pass 2NT with these hands.


( K9
( AQ873


( AQ873
( K9


Summary: 
1NT - 2( - 2( - 2NT
- 3(,
    


1NT - 2( - 2( - 2NT
- 3(
and


1NT - 2( - 2( -  2( 
- 3(
show a decent 5 card suit and offer responder




the choice of games.

And
1NT - 2( - 2( -  2( 
- 3(  
is showing decent 3 card support
but
1NT - 2( - 2( - 2NT
- 3(  
is not required and is undefined.            

And  
1NT - 2( - 2( - 2NT - 3(,




1NT - 2( - 2( - 2NT - 3(,
 



1NT - 2( - 2( - 2NT - 3(
and


1NT - 2( - 2( - 2NT - 3(
are all weak, to play. 

But  
1NT - 2( - 2( - 2NT - 3(
and




1NT - 2( - 2( - 2NT - 3(
are not required and are undefined.            
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